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er7nEad

A B C

%qGu n (nn.ku) 6 2 3

-kx$ip~ “u (nn.ku) 2 1 1

an$oGnns  (m.keb) 3 4 5

fh%3(UlW,%~) ,60 4 0 4 8
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6x,+2x,+3x,  5 500

2x,+ x2+ x, I 200

3x,+4x,+5x, I 1000

XlP%'x,  -> 0
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O R 2 3 3



x,-l

= c 2Sl,P(D,=d,j  W'pdlllM

8 O R 2 3 3



Mld1~9qW  z= E[Pj x,, I? = x1-  d,]  + E[Pl x2+Iz  , I,  = x2+12-  d21

= ‘5’ P[D,=d,l[50d,-2.51,]+50x,P[D,  2 x,] - 25x, +

d,=O

xz +I2  -1
c P[D,=d,][5Od,-2.51,+12.51,]+5O(x,+I,)P[D,k  x2+1,]  - 25x2

d2  =o

F@OSj48BlCfl

OR 233
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x,+3x2+2x3 6 380

OR 233



r~~~o~alwl3
iada:flenr

n 41 a 9 a

%dGu (n%) 7.5 25.0 I.1 4.8 3.6

UflR66laJ (h%iJ) 16.8 650.3 12.7 58.9 480.4

mqaGn  (%Gn?aJ) 1.9 0.5 0.2 2.1 3.8

wikm4  (arnaoi) 250 48.9 803 102 30

3lFll (ml) 80 220 215 125 160
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A 1 5 1 6 1 2 8,500

B 1 7 - 11 8,000

C 1 4 1 3 1 0 9,000

D 1 8 1 4 8,000

nisasvp (hu7w) 4.5 4.2 5.3

filRlbhm-4  (¶J1w99tiau) 1 3 1 5 1 0

14 OR 233



= 2

< 17oooy,

i 165OOy,

< 175ooy,

= 8 5 0 0

= 8000

= 9000

= 8000
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Y, = 0 H% lvyi? i = I, 2, 3

xjj 2 0 ~nt-ii i = 1, 2, 3, j = A , B, C, D

16 OR 233



Fi1gqm  (wimi1h1qm)  2 =  f(x,,  xz,...,x,)  = i: c j x j

j= 1

XJ b 0 j  =  1,2,...,n

(1.4)

(1.5)

(1.6)

O R  2 3 3 1 7



xj = 0,1,2,...  ~neil j (1.7)
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,
bW~~O~ll%l i a,,x,(  < ,= , > }b, i  =  1,2,...,m (1.9)

j=l

3 > 0 j = 1,2,...,n (1.10)
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‘k4ldltj~~F1  Z = 27x, +35x, + 40x,  +28x,

bkXkl~l~R

2Ox,+6Ox~+4Ox,+2Ox,  < 2 0 0 0

3 x ,  +  4xz  + 3x,+2.5x,  2 240.

3 x ,  +  9x2  + 5x,+4.5x,  5 4 0 0

x,  1 X? 3 XI 3 x., 2 0
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x, + 2x2  + 2x,+  8x, 5 2400

0.9x, + 1.1x,  + 1.4x, I 1 . 2  (%ql0nhrlulRlu~O)

12x,+ 9x,+ 8x, = lo (dGmuflaInr~0u)

Xl 9 x, 9 x3 2 0

2 4 OR 233



x, + x* + q + x4 + x5 -< 2 0  (¶.hJltll~U~ :  hml)

xs  5 3

x,-t  x2+ xs-  x,  - x5  2 0

-3x,-3x,+2x,+2x,-3x,  5 0

x,  (i = 1,2,3,4,5) 2 0
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2 6 9

C I 8 16

2 10 3 8

dl%4dla%un?r~~~(Ylw/ul~) 10.0 12.5 6.0 7.5

lO(lOx,+8x,+8xJ + 12.5(6%+10x  J + 6(6x,+10x,+16x4+3x,)  + 7.5(3x,+9$+8x,)

&IU~a66WJWlWtu’Es

trlfbdlq~Z  = 158.5x,+140x,+142.5x,+176x,+  203x,

hlQie4ln"a
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12x,+7x,+6x,+10x4+6~,+‘&  5 2 0

x4+  x5+  X6 5 1

X1 - X.4 20

X2 - X5 2 0

x, - X6 2 0

3 (i  = 1,2,3,4,5,6) = 0 nfi9 1

.
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0.15 0.30 0.35 0.60 0.80

30 12 33 60 90

15 415 9065 2550 235

30 9 3 59 9

0.48 0.54 0.54 1 .26  0 .60

5.00 12.50 12.50 20.00 7.50
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